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1. Szöveg – Feladatlap 
 
 
I. Írja be a hiányzó szavakat! Minden üres helynél csak egy szót használhat! Az elsőt 

példaként megoldottuk. 

Elérhető pontszám: 5 pont 
 

The Cabinet is the (0) committee at the centre of the British political system and is the 
supreme decision-making body in (1) ___________________.  

Every Thursday during Parliament, Secretaries of State from all (2) ___________________ as 
well as other ministers – meet in the Cabinet room in Downing Street to discuss the big (3) 
___________________ of the day. 

Government Cabinets have met in the same room since 1856, when it was called the (4) 
___________________ Chamber. 

The Prime Minister (5) ___________________ the meetings. 

 

II. Fejezze be az alábbi mondatokat legfeljebb három szóval az elhangzott szöveg alapján! Az 
elsőt példaként megoldottuk. 

Elérhető pontszám: 5 pont 

Példa: 0) Ministers of the Cabinet are appointed by the Monarch. 

1) The present cabinet has 23 members (21 MPs and _________________). 

2) The Secretary of the Cabinet is responsible for preparing records of its 
_______________________________. 

3) The Cabinet has collective responsibility ____________________________. 

4) Cabinet members are bound to support Cabinet decisions even if they 
________________________________. 

5) Much of the work of Cabinet is done in ______________________________. 
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2. Szöveg – Feladatlap 
 
I. Válassza ki és karikázza be az egyedüli helyes megoldás betűjelét! Az első példaként megoldottuk. 

Elérhető pontszám: 3 pont 

0) a) All nationalities are known as visa nationals. 
b) Certain nationalities are considered visa nationals. 

 c) Today there are no visa nationals in Britain. 
 

1) a) Visa nationals need a visa to travel to the UK. 
b) Not visa nationals can enter the UK freely. 
c) Everybody needs an entry clearance to come to the UK. 

 
2) a) You may apply for all types of visas at any British mission overseas. 

b) You may apply for a visa only in your home country. 
c) You may have to apply to different visa offices depending on the type of the visa. 

 
3. a) You have to apply for a visa in person. 

b) You do not have to apply for a visa in person. 
c) You have to apply for a visa either by courier or by post. 

 
 
 
II. Írja be a hiányzó szavakat! Minden üres helynél csak egy szót használhat! Az elsőt 

példaként megoldottuk. 

Elérhető pontszám: 7 pont 

 
(0) Visitors are not allowed to work in the UK. The (1) ______________ of people coming to 

the UK to work require a work (2) ________________ . The (3) _______________ for which 

your visa is (4) _______________ is always in the (5) _______________ clearance placed in 

your passport/travel document. A (6) ______________ visit visa is usually valid for six 

months, but we also (7) ________________ visit visas that are valid for 1, 2, 5 or 10 years. 


